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Seat No.

HB-19080002040301
M. Com. (Sem. 1V) Examination
April - 2023
Advanced Cost and Management
Accounting : Group-1 ACC
(New Course)

Time : 2% Hours / Total Marks : 70

YA : (1) 85 use ol el omall oy euldd 9.
(2) %330 2wl waei-l oozt eladl.

1 o [l Z [Qeust ad 2022 Wi Al 2iels dr s34l 9 ¢ 20
QR USALAL S oo, T 2,00,000
BRALRL 1ot nees T 50,000
Al Alg, Basdl (b 1-1-22) e, T 1,00,000
a2 Bidsdi vl yeu (dl 1-1-22) .......Z 4,00,000
Susill 4l widz (Cost of Capital) ............ 10% €.

Z [Qeuor T 15,000+ U3 eaide Bod ol 215 RaR Masd daaiHl
R 52 6. >0 Masd T 1,200 allils a1l oue wlls T 6,000
AL 1L U 9. 2L Rasarl 2 T 40,0001 Byasdl Adl FRasd
wlealrdl Susildl &g 0. dl Basd alils T 3,000 8010 ols
T 12,0000 awls sl dadl 24u4l.

(A) %l Biasd aadl Al in dl vledl el 23 @A Guzr-l
gLl Guldl s30A,
- RAsEadl Y ur andz (ROI)
- % »as (Residual income)+il 21adl $2u.

(B) o %l Fesd Al ddl e Adl Basd wdeami 2ud dl,
- RAsEdl Y ur aadz (ROI)
- % 2as (Residual income)+il 21ad3l $2u.
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1 ¥ drgd vt Hlel Wl Gadtert sl 2ts Sudl-i Gawent [Qeual 20
glal yaizl, 20231 Al [@oidl urddl A ealdal el el
Al UASL dUIR S
(1) W 5+% (2) 715l 57 (3) wUeield] S (4) [Qoudl g Avdl
€l dl 4y Geulenl el-l aRldl 53U,

[@ord BElWUA|  wIWR

Yol U | WU T
ALt A=A 10,00,000(12,75,000
1l w3l 6,25,000| 8,12,500
QARSI 2 ARl (RaR T 2,50,000) 5,00,000| 5,50,000
FRlaa v (R 2,50,000| 2,75,000
Q] wsd adl 2R (aldd) 1,87,500| 2,37.500
st o (RaR) 1,25,000| 1,25,000
Rl (RAR) 2,50,000( 2,50,000
AL (ulad) 62,500| 75,000
cflogoil 2, ot (Al&d) 3,75,000( 4,50,000
adladl wa (RaR) 6,25,000| 6,62,500

[Qeudar Wil 50 2ianl astd dal welld 9. wyauil, 2023 eHax
BELAUA HAOL 2l WRUR Yool [AI0L Beuled 2ssH 20,000 A4
25,000 UsHld S dx 9l weL %l [Aeudl ol sUHL U A
Beulert Mle Hall-il Al otglel Adiedl Ysde UUR oS Qaldl
2 dl 2ual % Hall Hie Al elg AsHEls T 188 el

2 HA SuslHl [@Qoid wBA-31 @dldl 2Uad 9. dd AUl 4 %330 20
BlLALAL Gl
A3+l 225 WEAL-3HL 1500 254 244 usdR T 21,600
wEUl-24idl dledl 63,900 sl T 4,96,200 Avt
wBA-44L @ oL LsHL 56,700
AR 2Ls WEAL-3UL 5400 2isH
alolR+L 54l 3300
WEFAL-3UL elid 53 WaudiA T 2,41,080, vyl ¥ 1,18,860,
uRleL v T 59,430, WEAML WML 82 5% Gdlertrl
alou+l qel Bud T 3 2sucls ©.
yeldidl esialzl

[0 A3l WA | wUMR WS *loUR

HIARAHIA 70% 80% 100%

gLl 50% 60% 80%

uRlg 1 50% 60% 80%
2l
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2 35 sRvUAL asatril WEAAL 2id AR gl Bedd 6. dl 31 20

WA, 2022+ St YR Al AHAOUNAL Hdd $& A% UsdR T 2,25,000
Bed €. Gautert ARl WAL UdR 2t dau 210l Huled] {2

WHIBL €9
ad, | Gewedt ([3au.) | egar widaru Big ugdl | au [Gud
quRIAl WdR ¥ 3
A 12,000 64,500 | 2,58,750
B 6,000 13,500 22,500
C 3,000 - 9,000
D 6,000 2,250 67,500

A arii-l WEAL sul Riauy 92 usatdl Big 1 o AR il 4l
sl 2Ud dL -l oo Belun €ls e Bud Holl €.

A-T15,B-%6, C-3,D-X7.5
A2AAL 2R ASLS5IRSAL slddl UASL dUIR $3.

(1) oA t921 usclistl [Big uedl ari-l ulBan sul wesl ARy il
QABL Sl 4.,

(2) % ARY AR 92l wsarll [Bigal o dual 2.

3 o (AL iadl dididil 80% #HASL SR 9 vt o1 Geulest 15

el (& Y3 Wil 6. 3our (& Wil axq, T 7,00,00040 AAdl- (&
Yl WId €9 2 dARL YR 20% 5L HAA 8. HsHELS UAE UsdR RER
€. URA& usdRll iel A Yool ©

ENR 80% &MdlL |  90% &HAL [ 100% &Ml

20,000 21sHL | 22,500 UsHL | 25,000 HisHL
Aldd v % 1,20,000 | ¥ 1,35,000 [ ¥ 1,50,000
28 Al WA T 50,000 T 55,000 T 60,000
1R w2 T 1,20,000 | ¥ 1,20,000 | T 1,20,000

Qourt [ elel Gaulerl 20% el [Fisid 15 1O €. i 112
Qeull WEoL vl T 2,000 aci-l wzel 9.

Mt 2182 2190 axgedl Bua sidl Ad 458l 520 5 %l Rsin Bud
uR 10% sl Hal.

YAl
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3 s arg el Godled widr <l Haot 6. dsdl dael Bud Al siel. 15

HAAMLA oo 3. 2.50,000
UYL v 3. 2,00,000
UG VAL ... 3. 1,75,000

ARl GAulert 2 ARl 1,62,500 sl 6. AstAd Y-l REAR el
3. 6,12,500 € 27 AfAd el A1l Gualdl 40% 9. sMueill 40%
avl 53931 sl olle ALl AsAl Y U 12% <15l Aufad 9.

4 gsHin avil, (siduel leL) 15
(1) UddR AALEAAAL AR BUHIRAG
(2) UddR AL Sl
(3) RAnasly >iRed s1dam
(4) eusla 21Be 2= AAaslu 20Be a2 daslad
(5) Geuesdl [Sasll uglad He
(6) GBulesdl i Heglg-l vald.

ENGLISH VERSION

Instructions : (1) Right side figures show marks of each question.
(2) Show necessary calculations as a part of answer.

1 7 department of Jay Ltd. estimates as follows for year 2022. 20
Profit before depreciation ......................... < 2.00,000
Depreciation .........cceeeeeeeereereeneenieenie e < 50,000
Net current assets (as dt. 1-1-22) ............. < 1,00,000
Net value of fixed asSets .....ccocvvvevvevveeennnen T 4,00,000

Cost of capital of the company is 10%.
'Z! department thinks to sale one fix asset which book value is
T 15,000. This asset earns yearly net profit of ¥ 6,000 after
deduction ¥ 1,200 as depreciation. Company's aim to purchase
new asset worth I 40,000 on behalf of this asset. New asset will
ecarn X 12,000 as yearly net profit after deduction ¥ 3,000
depreciation.
(A) Assume that old asset is not sale and new asset is not purchase,

then Calculate from the above information -

- Return on investment

- Residual income
(B) If old asset is sale and new asset is purchase, then

Calculate:

- Return on investment

- Residual income.

OR
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1 A production department of a manufacturing company has 20
furnished the following data January-2023. Prepare statement of
(1) Cost center (2) Profit center (3) Responsibility center
(4) Minimum production units to carry on business department.

Particulars Budget| Actual

3 3
Direct materials 10,00,000(12,75,000
Direct wages 6,25,000] 8,12,500
Repairs & Maintenance (Fixed ¥ 2,50,000)| 5,00,000{ 5,50,000
Supervision expenses (Fixed) 2,50,000( 2,75.,000
Consumable stores (variable) 1.87,500( 2,37,500
Factory rent (Fixed) 1,25,000( 1,25,000
Depreciation (Fixed) 2,50,000( 2,50,000
Tools (Variable) 62,500 75,000
Power & Fuel (Variable) 3,75,000( 4,50,000
Administration Expenses (Fixed) 6.,25,000( 6,62,500

The department has 50 identical machines. During January-2023
the budgeted and actual production of the department are 20,000
and 25,000 units respectively.

However if the department is closed and the machines production
services were hired from outside the cost of hiring the services of
similar machine would be ¥ 188 per unit.

2 Details of Manoj Company Limited for the Process-III is as 20
under. Calculate required all the accounts.
Opening stock in Process-III 1500 units at ¥ 21,600
Transfer from Process-1I 63,900 units at T 4,96,200
Transfer to Process-IV 56,700 units
Closing stock of Process-III is 5400 units
Units scrapped 3300
Direct material add in Process-III ¥ 2,41,080
Wages ¥ 1,18.860
Overhead ¥ 59,430
Normal loss in Process was 5% of production.
Scrap sold at X 3 per unit.
Degree of Completion:

Particulars | Opening Stock | Closing Stock | Scrap

Material 70% 80% 100%

Labour 50% 60% 80%

Overhead 50% 60% 80%
OR

HB-19080002040301 ] 5 [ Contd...



2 In a factory four products are emerged from a process. The total 20

joint cost during the year ended on 31-3-2022 is ¥ 2,25,000. The
out put sales and further processing cost are as under:

Product Output | Additional Processing Sales
kgs. cost after split off Value

point ) )

A 12,000 64,500 | 2,58,750

B 6,000 13,500 22,500

C 3,000 - 9.000

D 6,000 2,250 67,500

In case these products were sold before further processing the
selling price would have been as under:

A-X15,B-%6, C-T3,D-375

You are asked to prepare profitability statement based on:

(1) Ifthe products are sold after split off point and further processing

(2) If the products are sold at split off point.

3 Magan Ltd. presently operating its plant at 80% capacity to 15

manufacture a product only to meet the demand of Navin Ltd.
Magan Ltd. supplies the product to Navin Ltd. for ¥ 7,00,000 and
earn profit of 20% on sales. Direct cost per unit is constant. The
indirect cost estimations are as under:

Particulars 80% Capacity | 90% Capacity | 100% Capacity

20,000 units 22,500 units 25,000 units
Variable cost < 1,20,000 < 1,35,000 < 1,50,000
Semi variable < 50,000 < 55,000 < 60,000
Fixed cost < 1,20,000 < 1,20,000 < 1,20,000

Magan Ltd. received an export order for the product equal to 20%
of its present operation. Additional packing charge will be ¥ 2,000

for this order.

Determine the price of export order to give a profit margin of
10% on export price.

OR
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Find out the selling price of a product having following cost

structure:
Material ........... < 2,50,000
Labour.............. < 2,00,000

Overheads ........ < 1,75,000

Sales and production is of 1,62,500 units. Capital employed in
fixed is ¥ 6,12,500 and that in current assets is 40% of sales.

12% return is expected on capital employed after paving tax at
40% of net earning.

Write short notes. (any three)

(1) Four pillars of cost management

(2) Objectives of cost management

(3) Functions of management audit

(4) Difference between financial audit and management audit
(5) Importance of productivity accounting method

(6) Productivity and value added concept.

15

15
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